Module 3 - Inequalities Progress Exam 1

11. Using an interval or intervals, describe all the z-values within or including a distance
of the given values.

No more than 9 units from the number — 2.
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12. Solve the linear inequality below. Then, choose the constant and interval combination
that describes the solution set.

br —8 < Tx —4
a—=1-1 Sx-8 ¢ Ix-Y
@ [a,00), where a € [—0.2,2.9] X 35X -2 )
B. [a,00), wh =5, 1] Sty
. |a,0), where a € ) F Yy +y X € [-Z,OQ)

C. (—o0,a], where a € [0,7] _
D. (—o00,a], where a € [~3.3,1.6] “h8

7
E. (=00, 00) /—Z——\
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13. Solve the linear inequality below. Then, choose the constant and interval combination
that describes the solution set. LeD: !

=L ® B-Tyr e -ly ’

A. (—o0,a), where a € [—10, —6] Bx-20% 3x- 12 8

B. (a,00), where a € [—10, —4] -Ix -Ix ‘ Xe (8) =)
@(a,oo,whereae[%ll] X -2 - -
D. (—o0,a), where a € [7,9] +10 +1o0

E. There is no solution to the inequality. [’XTB—I
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14. Solve the linear inequality below. Then, choose the constant and interval combination

that describes the solution set.

Xe(=2%=4) U (6,oR)

o+ ¥x ¢8x
“4eSx Y bx — 1—;4'+5a:>6x‘ or 6+7m<8xk/ -Ix -Ix
=Sx -Sx |,(°_Li.
S a=L"M b= G
- X
L— A. (—00,a) U (b,00), where a € [-7.3,=5.4] and b € [3.4,4.7] =Yy y on (e x
@ (—00,a) U (b,00), where a € [—4.3,—2.1] and b € [5.3,6.4]
C. (—o0,a] U [b,00), where a € [-7.6,—5.3] and b € [3, 5] _E‘_‘ (ai |
D. (—o0,a] U[b,o0), where a € [-5.7,—2.8] and b € [5, §]

15. Solve the linear inequality below. Then, choose the constant and interval combination

that describes the solution set.

LeD-Y

(-6-72< %Z+6 <8—9z )"
_1s] g ‘i(—(o-f;x)w('ﬂ{—'*—‘-’-) ¢ 4(8-9x)
A. [a,b), where a € [-10,—6] and b € [—1, 5] =14 - 18X -2x+( & 32 -30x
B) (a,b], where a € [-11,—6] and b € [2, 5]
C. [a,b), where a € [6,1] and b € [5, §]
D. (a,b], where a € [-5,—1] and b € [7, 16]
E. There is no solution to the inequality.
AnD ¢
. = Ulx+ b £ 32— 30x
TI4-28x Lo G +3bx + 36x
+18x  +18x
|1x +6 ¢ 32
14 ¢ Yx +G -G
LNk :
\1x < 26
-30 ¢ Yx JE
0 Xt 3
"5 (x . b _
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